Can I use the bus shelter to solve division problems
I can't do mentally?

warm up dividing 10/100/1000

560 = 10 = 980 + 10 =

400 = 40000 —= 340 = 340,000+
ol = = 100 102 = = 100
Nhere are 25 tennis balls in There are 32 hoxes af cup
each tub and there are 34 tubs. cakes at the bakers and there
howr many tennis balls are are 65 cakes in each hox. How
there? mmg;mhe&umthm

altogether?

9| 540 5| 450

6| 541 4| 242



solve these

2‘ 848 5| 555

2‘ 642 4‘ 848
3‘ 669 2‘ 268
let’s have a go at these:
6| 804 2| 704 7] 588
2| 702 5| 895 5‘ 890

4| 952 6| 852 4‘ 652



